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Freafeiaa Féer s amaart @ ufew ik st U Hifve -
(i) FGFT-TTH T30 Fo7 & | T 597 3T & |
(i) Fo7-97 9K @S] § 49157 8 — @Ue-%, &, 7T & /
(iii) Te-F : yo7 G&I1 1 8 17 7% TglaabeiT 57 8 |
(iv) TE-& : 97 Ge&ar 18 8 23 7 75 -IiT o7 & | 9% J97 1 I 80 & 100 5! &
[o7@T ST <130 | 997 G 18 7T 19 G STRT 97 8 |
(v) TE-T: J97 &I 24 T 28 T Fed-I0F I97 & | Feie J97 HT IR 120 T 150 I=5) 7
fer@r ST =R |
(vi) @S- : J97 GE&IT 29 TS 30 HIFI= HTERT T97 8 |

T E—-%
(39 GUE ¥ 9] h G 17 8 | Wi w3 feE 1)
1. fr=feafea 3 @ fafya iy i faswa & vgem Hifse :
(A) 98 GUTS TRI3TI o TTAH-TT90] T F e 3o 3T & TR 2 |

(B) EST IcqTEH Ud YITSH T HHH Hed e smar & |
(C) 3Eeh! JUUETRAT o G UM H I[E3TA 1 TS |

(D) 39 9T U, ST&T fhEH haret Hfesrt YeT a1 & | 1
2. fFrfafeaa & & =W @t sngfs Fmiv i fodwar 78 3 7

A) T St renfeh 7 (B) Ffess gft

(C) BRI (D) WeTERhR ST —ant 1

3. frfefed 3§ & i o oot SR Y fersiwar 12 7 7
(A) T TShaTehetTa SUTRRIST i TEqaTl o Tcaed forshar T Heiferd 2 |

(B)  SAIHTIN Beaht AR haet foasha & fete fra feasmi § wvo= grar & |
(C) Vg HeohT Gl (ST Bl & Jfd od & |
(D) Hesh SATIR 1 T34 31 ferfert Hemmii 3 gfdert grr grar 2 | 1

General Instructions :
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Please read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are
compulsory.

(it)  Question paper is divided into 4 Sections : Section — A, Section — B,
Section - C & Section — D.

(itz) In Section — A : Question number 1 to 17 are Multiple Choice (MCQ)
type questions.

(iv) In Section — B : Question number 18 to 23 are Short Answer (SA) type
questions. Answer to these questions shall be written in 80 to 100
words. Question number 18 & 19 are Source based questions.

(v)  In Section — C : Question number 24 to 28 are Long Answer (LA) type
questions. Answer to these questions shall be written in 120 to 150
words.

(vt) In Section — D : Question number 29 & 30 are Map based questions.

SECTION - A
(There are 17 questions in this section. All questions are compulsory)

1. Identify the feature of mixed farming from the following :
(A) Itis most advanced and efficient type of rearing milch animals.
(B) Equal emphasis is laid on crop cultivation and animal husbandry.
(C) It was introduced by the Europeans in colonies.
(D) The regions where farmers specialised in vegetables only. 1

2. Modern manufacturing is NOT characterised by which one of the following ?
(A) A complex machine technology (B) Vast capital
(C) Small organisations (D) Executive bureaucracy 1

3.  Which one of the following is NOT a characteristic of retail trading ?
(A) It 1is concerned with sale of goods directly to the consumers.
(B) Most of the retail trading takes place in fixed establishments.
(C) Most of the retail stores procure their supplies from intermediate
stores.
(D) Retail trading constitutes bulk business through numerous
intermediary merchants and supply houses. 1

4. Tr=afafad & @+ o1 Srammam sqds Famemem @ gmEfRa § 2
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(A) FIATST T IATEH (B) T=H

(C) wieA (D) MR 1

5. Toepfra srdieaawen ¥ agaeTs s stderawen % fFrefafad &= 3 @ fraw TomR uTar
87
(A) wrfies & B) fecfiaes &=
(C) T &= (D) =qdes & 1

6. Trferliad @ s w1 A foeh =1 @ &= T8 2 ?
(A) HHEH T U5 (B) < 3R T Sfaq
(C) Tram (D) TR 3Ty 1

7. TafaRad SunTHi § ¥, fReeh! ga €9 8 STIE 49 e A SEted o o ?
(A) 3T I
(B) <hedT9T 3UTH
(C) I IATAIIehdl IUFTH
(D) &rwaT 3T 1

8. Tr=feiRaa srelenfemt & @ fopem 1990 § wa faehe gaeries A fopar 2
(A) . 3T T (B) Sf. muEs fog
(C) @i "gegE-3A-5h (D) T . due 1

9. fa=ferfiaa 7 9 = 91 gegehTelF TR 1 U IEW B ?
A) < (B) AT

(C) el (D) WSE 1

4.  Which one of the following activities is related to quaternary activities ?
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(A) Production of information (B) Fishing

(C) Tourism (D) Trading 1

5. In a developed economy, the majority of workers get employment in which

of the following sectors of economy ?
(A) Primary sector (B) Secondary sector

(C) Tertiary sector (D) Quaternary sector 1

6. Which of the following is NOT a key area in human development ?
(A) Access to resources (B) Long and healthy life

(C) Education (D) Economic disadvantage 1

7. Which one of the following approaches was initially proposed by the
International Labour Organisation (ILO) ?

(A) Income Approach

(B) Welfare Approach

(C) Basic Needs Approach

(D) Capability Approach 1

8. Who, among the following economists created the Human Development
Index in the year 1990 ?

(A) Prof. Amartya Sen (B) Dr. Manmohan Singh
(C) Dr. Mahbub-ul-Haq (D) Ellen C. Semple 1

9.  Which of the following is an example of Medieval town ?

(A) Daman (B) Agra

(C) Patliputra (D) Madurai 1
10. frefcrRaa st & @ fopm 3 <SSR o1 T foram 2

(A) I T B) ifd Jmrm
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11.

12.

13.

14.

10.

(C) Tafr smam (D) e sm 1

Frfafaa o @ g g &1 = i ;

(A) rfeaR -  fosmarTem

(B) UNEET TR —  "ad

(C) afrsram - e

(D) IEFH TR — 99U 1

WHR SIS &3 <6 Hew H f={ctigd H & &1 91 98l 78 @ ?
(A) 33 &= ° Tvar et 1 Q1 agdiel — wii 3R Sl wfhe 2 |
(B) 7% stfergfard St & T 7 |

(C) 39 & T el TSI TYe 51 3TEE § |

(D) SHSATAR TR e - T L & | 1

sfen et TEt < wew # ffefed § & i w1 Hem w18 & 7

(A) 38 TE TSTEAH T8 h T8 § STHT ST &7 |

(B) I8 T& USTTe U gieht iy © faeherd 7 |

(C) g &L T HHT o HHHIR &l 2 |

(D) 39 e W TTEI HaH HH AT g3 § | 1

Y [ 1 T waw 11 & hiSTe 3TR TEt forehed o1 99 Hifu
w1 w11
1. Tsd a. Ueheh! SiEqdl
ii. Ad-7yfeed b, IHISA DI TR TR W U=, TS, ITefl 3¢ o € T FHT 161 8 |
iii. oot c. Toafsa sfeqat
iv. uffem d. wpfera v fFfda &=

e :

(A) i-a, ii-b, iii-c, iv-d (B) 1i-d, ii-c, iii-b, iv-a

(C) 1i-b, ii-a, 111-c, iv-d (D) 1i-c, 1i-b, 111-a, 1v-d 1
Which of the following commission replaced ‘Planning Commaission’ ?

(A) Election Commission (B) NITI Aayog
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11.

12.

13.

14.

(C) Law Commission (D) Education Commission 1

Choose the correct pair from the following :

(A) Industrial town - Vishakhapatnam

(B) Transport town — Satna

(C) Commercial town — Bhilai

(D) Administrative town — — Bhopal 1

Which one of the following is NOT true about Bharmaur tribal region ?

(A) This region comprises of Bharmaur and Holi tehsil of Chamba
district.

(B) Itis not a notified tribal area.
(C) Itis mainly inhabited by Gaddi tribal community.

(D) The tribals practise transhumance. 1

Which of the following statement is NOT true regarding Indira Gandhi
Canal ?

(A) It was previously known as Rajasthan canal.

(B) It originates at Harika barrage in Punjab.

(C) The canal runs almost parallel to Pakistan border.

(D) Rajasthan is least benefitted by this canal. 1

Match the Column I with Column II and choose the correct option :
Column I Column I1

1. Clustered

1.  Semi-clustered

Isolated settlement
Units are locally known as Panna, Para, Palli etc.

1ni. Hamleted Fragmented settlement

P oo

iv. Dispersed Closely built up region

Options :

(A) i-a, ii-b, iii-c, iv-d

(B) i-d, ii-c, iii-b, iv-a

(C) 1i-b, 1i-a, 1ii-c, iv-d

(D) i-c, 1i-b, iii-a, iv-d 1
e few 7o wa w1 ufew 3tk 3Tk = few e weat (15 | 17) @ 3w fafkau
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HY AR

3T e we wew o fa afeaht iy Seary &7 1§ oTafedd 3 | a8 Irad | gAR ¢
o gaifees Ui fUse f5ell 3 9 U B | S s fowwd: e o1 3= 9igur sqeh!
foRIvaT B | TR TS o S0 RE I @ 8, IR g T ST U qfH T SEnei o 3
& A & Rl Teoferd g1 T3 @ | T8 WA SRR o T fobrE’ qun iy
AT GHI &1 | STol TY0T Y& sk B8 T4 8, Toie argan fiel § dwhetargds
Toranfeara feram o 2 | I8 Fefiehtur i Teh a2 YIfH <At TUTal 1 GUTH H % 4G
BT | STt W01 Jee hRisRA W, el 9T Seafael o s gl sl IgaHdl & 3T
TTehfcieh TETEHT o TEEH TS LTI TEHTHTdT & S ot STTShifereht Sl GUmrd w1 JomE
w2 | et aiw ast §, o faema wemerm @ e sme wefie wieft firem gro frenfera
ST FOT TS + 37het ST TTel <1 1T 20 TicrsTd fH 31 U=k foham & |

ST fet o1 Ueetmaneg o™ @e, ol & Faifess 3ad ®) W fed 3 a1 @R ud
T-TThH TS Sl AT} G ol TRl YU 3 HYE <hl ITAWTiTaT 1 9%al 3T
e JehU0T TEqd LT & | et foshe We & fiet (FHmee Tid & dasel axil)
THET = YT T3 ShT STE hich T T <hl ETeft ToeT HETeAT o gsiitard fohaT 3 |
Tedeh IR = |1efl et H Teh Ug e 37N 38 ufera foa | 3k w € wedeh uREr
= TR Y R I 9T ! SR 31K S ¥ Y G N e 35eh! HHINh TUEE |
T a1g 1, ITRT HET AT, T AT T HTE Gl = &l 2t 3wy A 31mer fd
B e ST SITE 31 36 Woh I & I Fehi o1 fob S =miTe 3ea forenfira fopu & & oy
H 3o I3TH T Hd TI90T Had T |

Read the following source and answer the question no. 15 to 17.

A Case Study
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Jhabua district is located in the westernmost agro-climatic zone in
Madhya Pradesh. It is, in fact, one of the five most backward districts of
the country. It is characterized by high concentration of tribal population
(mostly Bhils). The people suffer due to poverty which has been
accentuated by the high rate of resource degradation, both forest and
land. The watershed management programmes funded by both the
Ministries of “Rural Development” and “Agriculture”, Government of
India, have been successfully implemented in Jhabua district which has
gone a long way in preventing land degradation and improving soil
quality. Watershed Management Programmes acknowledge the linkage
between land, water and vegetation and attempts to improve livelihoods
of people through natural resource management and community
participation. In the past five years the programmes funded by the
Ministry of Rural Development alone (implemented by Rajiv Gandhi
Mission for Watershed Management) has treated 20 percent of the total
area under Jhabua district.

The Petlawad Development block of Jhabua is located in the northernmost
part of the district and represents an interesting and successful case of
Government-NGO partnership and community participation in managing
watershed programmes. The Bhils in Petlawad Development block, for
example, (Sat Rundi hamlet of Karravat village) through their own
efforts, have revitalized large parts of common property resources. Each
household planted and maintained one tree on the common property.
They also have planted fodder grass on the pasture land and adopted
social-fencing of these lands for at least two years. Even after that, they
say, there would be no open grazing on these lands, but stall feeding of
cattle, and they are thus confident that the pastures they have developed

would sustain their cattle in future.

39 3TWE 1 U Ueeh U I8 & foh TSR 56 =ATE T8 Jishat shl YB3 hid
or 3u® ygd 2 ueH] TTia o Uk faamet 3 39 W 3AfasRau o fFam | i a1l F agHieer
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15.

16.

17.

I FART 3R AT FHE TR 39 AR I GHTTaa HUAT | 39 T 99y Sl Tia
el GRT oA T foreh fefe 32 |t =g o W SATashHu S aTel gt Wl
319 SRATHT THE 1 HEE SIh SH TTSht TITE fH 61 ST & TR T TR foham |

ST & ST TS o AN A T o R0 HE F1 31t 7 39 faehed 1 =34

T ST HE T 2 |
(A) o1 1 3= X H i (B) i =1 ffieRm
(C) Tewar (D) ST F¥OT J&-9 oh! AR BT

ARTH A TohE Toh T TR {Hell o forehTel Shi Saw shi ? Tel foehed a1 =13 hifry |
(A) TIATTET <hY &I AR H <) hieh i |

(B) ETTE viferat foneft & et 7 7 oA |

(C) TANTTE | TFIC] TETEE &, Held: 3-8 SHehT faehTd fohaT |

(D) EhT SAREHTIE! 3 e sl o5 foreht s o ager =48 fean |

il 7 37 TS S | |Ten Srie] FEreHl bl fhE SR gASifad kAt ? wa faehed
1 T HITT |

(A) 9T {9 R BN o SF=HG AT T |

(B) HTS TEIET HHTEA] W =S 1 Gefl | o1 b fema |

(C) JERIIUT SHRIERA el AT 7T |

(D) 3= Sl GO 1 Terenfdra foman |

An interesting aspect of this experience is that before the community

embarked upon the process of management of the pasture, there was

encroachment on this land by a villager from an adjoining village. The

64/5/2 10
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villagers called the tehsildar to ascertain the rights of the common land.
The ensuing conflict was tackled by the villagers by offering to make the
defaulter encroaching on the CPR a member of their user group and

sharing the benefits of greening the common lands / pastures.

15. Why did the people of Jhabua tribal community suffer from poverty ?
Choose the option which is NOT correct.
(A) High rate of forests degradation
(B) Land degradation
(C) Illiteracy

(D) Implementation of watershed management 1

16. How did people manage to develop pasture lands ? Choose the correct
option.
(A) Use of barbed wire to protect pastures.
(B) Pasture lands were not under any encroachment.
(C) Pastures were common property resources, hence they developed it.

(D) Govt. officials did not interfere in any work of the villagers. 1

17. How did the Bhils, through their own efforts revitalise the common
property resources ? Choose the correct option.
(A) Common land was brought under cultivation.
(B) They controlled open grazing on the common property resources.
(C) No tree plantation was taken up.
(D) They developed water resources. 1
TE-@
(9 ST 18 3R 19 T et A ¥ 1)
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18. feuw U gd w1 9aa hifsTe 37 35es i feuw mu g4t o 3o fafige 1x3=3

B AU ¢k Sfiad H 3Teh IEG3T 1 STAM HLd & | TAHS AT ZAUEE H Toht g hi
=1, T, HUS, AT 71 WTa Uere TG hi g4 Tidfe STremaehd! TSl & | 31 |+t &1
SR | @l I Tehdl & | 91 37197 il A § foh 39 Swgaii o1 3104 3cITe -2 8
for vepm @R ST @ 7 9t Scres fve € @ud o e B 8 | @l ve Rl ¥ AR
Teft IATCT 1 I TIHT T AR (T 7, Tl IR 3¢ Gl ek | Ig Uiae & 8 S
T 3T ! AT TASAT & SR b UgTal & STal o SUHIRRIS o foTw 3ueted 21d & |
B 3T ¢feh e § e, STmeh-|festall, fehdtel T Suet 3Tfe St ofifaes awqy & &
3TN H AN & ; i o, o3 a1 Hewn o1 oY 3T hid 8 | 9T 39 9Hd & 16
foftre |l o o1em @ 99R a9 g9 3T foeml, oeiF 3T TeEi @ fafrmw v
T H GEX T T, 3191 U SAfth § GHL dh d 4 |

IiEE TUT FIR T ITAN Teh ] ! ITAHT et TIH U 3deh ITAN dTet TIH T
AH- T 6T A 3Tavashal W AR oar 8 | ame Tt axgst, gert stk fammi
1 Toh T H GO TIH T of 1M o Tore fret Tt 61 semr shean 2 |

(18.1)  Uftere i ITAMTaT shl =TT SHifSTT |

(18.2) WO &g i THTRYA T |

(18.3)  TER 3R UNaET o o 3= T i |

19. feu e fom o1 AraurigEe 37e hifiT 31K 30 fo fu i sh s fafan:  1x3=3

SECTION -B
(Question No. 18 and 19 are Source Based Questions.)

18. Read the given source and answer the questions that follow : 1x3=3

64/5/2 12 *A



We use many items in our daily life. From toothpaste to our bed tea,
milk, clothes, soaps, food items, etc., are required everyday. All these can
be purchased from the market. Have you ever thought as to how these
items are brought from the site of production ? All the production is meant
for consumption. From the fields and factory, the produce is brought to
the place from where consumers purchase it. It is the transportation of
these items from the site of their production to the market which make
them available to the consumer.

We not only use material things, like fruits, vegetables, books,
clothes, etc., but also use ideas, views and messages in our daily life. Do
you know we exchange our views, ideas and messages from one place to
another or one individual to another while communicating with the help
of various means ?

The use of transport and communication depends upon our need to
move things from place of their availability to the place of their use.
Human beings use various methods to move goods, commodities, ideas
from one place to another.

(18.1)  Explain the utility of transportation. 1
(18.2)  Define the term ‘Communication’. 1
(18.3)  Differentiate between transport and communication. 1

19. Study the given figure carefully and answer the questions that follow :1 x 3 =3

(19.1) HaH Ho SHEEHT 9Tt <3 1 1 fAfgy | 1
(19.2) ot o wfyrn werEi & $ot fohaw <ol bl g T g ? 1
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20.

21.

22.

23.

(19.3)  URRTH Y-3TRhld FRE FehR SFHEEAT < T-cd oh THTTed hid § ?

A : FHfaRad T shaet giEaera TiefeR < fore sed e 19 & WM W E

(19.1) TrT HETET Y e gaifes 7 7

(19.2) fore ETET o) SHE qod HA B ?

(19.3) Soiary <l FEE faawr &1 quifad S dTel &I &b & &9 H A
HIT |

(9 TEAT 20 A 23 FY-I70T THR b T E 1)

“Teh To¥e & &9 1§ TIeT 1 T&F TR Y] 1 G o T oh &9 H THIHT @ |” 389 HeH
AR RIS

(a) “INY wE faepmm™ Jredi o gRI ST TameR ST foi-Hior o Teequl 98e]
2 1” 39 5 o1 Tzt Hifvw |
YT
(b) “dia 9 Tew uftaed Jumelt fEnfies foaemma % foiu sTcamesaes 8 |7 39 e &1
forgeror HifT |

ek THT H TR, fored o A1 wTa w1 3M9R 7 3R 77 Uyl 1 fagw fifa 7 fora
Teh R T 8, ST ShIToT |

(a) “URd H 3ucisy el wane 3fEnfies, i aft se] frearl d yghm AT w # 1
Y Y h] FHIETd 38UT |

JAYAT
(b) “vRa H fEaTE 6T AT TE-HHCB I THG T & |” 3 B I <AL
3alsy |
(19.1) Name the highest populous country.

(19.2) How many total countries of Asia continent are shown in the

figure ?
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20.

21.

22.

23.

(19.3) How do landforms affect the density of population in Asia ?

Note: Following questions are for Visually Impaired Candidates

only in lieu of Question No. 19 :

(19.1) Which continent has the highest population ?
(19.2) Which region has the least population ?

(19.3) Explain the climate as the main factor affecting distribution of

population.

(Question No. 20 to 23 are Short Answer Type Questions.)

“The basic principle of Geography as a discipline is to understand the

earth as a home of mankind.” Support the statement.

(a)

(b)

“Technological innovations through research and development
strategy are an important aspect of modern manufacturing.” Analyse
the statement.

OR
“Speedy and efficient system of transport is essential for the

development of industries.” Analyse the statement.

Explain how, in modern times, trade is the basis of world’s economic

organisation and is related to the foreign policy of the nations.

(a)

(b)

64/5/2

“The available water resources in India are getting polluted with
industrial, agricultural and domestic effluents.” dJustify the
statement.

OR
“Provision of irrigation makes multiple cropping possible in India.”
Justify the statement.

g -1
(S ST 24§ 28 Ee-I0T THRH IS 1)
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24. (a) U R T wewEl &= H fava ge ufesd & @@ yg@ auensi 6

foamm Hifsm | 5
Y
(b) Torva o &1 ufterga = yg@ ol i feemaT Hifs | 5
25. (a) fova ¥ SHEEAT o foawor s guTfd i aTet WhTifefeh HRehl o Tl 1 fageryor
1T | 5
Fgan
(b)) Tava ¥ SwEEn & fodqwn =1 gvifaa 6 910 3 3R IS Shitehl ol
ﬁ?ﬁwml 3+2=5
26. 1901 § 1921 3R 1921 ¥ 1951 3! @A % GRA 9NXd H SHEEA dhg & o=
TEG3I o Targers T i | 5
27. YA o JTATA-FeIA ® FgaTd YTET i TG HINT | 5
28. WA iy h foheg Ure YW THEITSHT 31 ST HITWT | 5
G -°

(S99 S&AT 29 T 30 AR Snuia 79 € 1)

29. O o feu mu gHifaes Wer-aHfs WA, B, C, D, E, F 3R G @1a i @eqo fegm
Mg | T © foredi uie ol Tg=TiT 3T Seh a1 Eish 7S W@l W 34k gel 9 feiftau 5

A, TR @ AU aruE

B. O GFR 3T AL TR ! AT aTeft T8t

C. TR 3THAERT &1 U THE T -I0H

D. YR-3TEIAITS Tetdrt o1 R o1 =uH

E. 3nhiehT i Sotael 3ol 1 U T9E &

F. foxga anforss st iy 1 v ygw &

G. 39 1 SR FgI=
SECTION - C

(Question No. 24 to 28 are Long Answer Type Questions.)
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24. (a) Mention the major problems faced by global road transport in

mountainous and hot desert areas. 5
OR
(b) Mention the major benefits of rail transport in the world. 5

25. (a) Analyse the effects of geographical factors on the distribution of
world population. 5
OR
(b) Analyse the economic and social factors affecting the distribution of

population in the world. 3+2=5

26. Analyse the different aspects of population growth in India during 1901 —

1921 and 1921 — 1951. 5

27. Examine the changing pattern of the composition of India’s imports. 5

28. Explain any five major problems of Indian agriculture. 5
SECTION -D

(Question No. 29 & 30 are Map Based Questions.)
29. On the given political outline map of the world seven geographical
features have been marked as A, B, C, D, E, F and G. Identify any five
and name them on the lines marked near them. 5
An International Airport in Asia.
A canal linking Red sea with Mediterranean sea.
A major seaport in North America.
A terminal station on the Trans-Australian Railway.

A major area of nomadic herding in Africa.

HHED W

A major area of extensive commercial grain farming.

G. International airport of Europe.

e : Frefafea e sraet gyt whenfiat & forg v s 29 F WA W E |
Frafafa @ & forel aie & I fofl

29.1 A H AT ST 1 19 fafaw |
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29.2 I T T, el IR ! YOS GFR H foeTrdt g 2

29.3 TSI o P! d¢ W FEd Y@ Tl -a<H o1 9 fofE |
29.4  UR-3TR T ot & fopeft R & = w1 9w fafu |
29.5  cfeft 3TshiehT & T ScTaTell UIERIT & T Sooig <hifuTy |
29.6  fora anforsy 31T Y o foreht weh g & ot A frfa |
29.7  fore o foreft weh agueH o1 A faaRaw |

30. WRa % feu U g T@r-amfas o fefefaa o @ f5=1 i 1 guiige 3K 39 T
forfe
30.1 WAk SHEE g Il TS
30.2  IHAH TR &R AT T
30.3  S[Z <RI 3TUI IHTCHh T
30.4 RIS — g GH
30.5 ST e @H
30.6  TICE FHAI-I<H
30.7 U ¥ RUq SRR T

5

e : TfeRaa s e giEeiea adenfRT o fore wev 9ean 30 & R W e |
frfaftaa @ & fogil uie & S fafe

30.1 Haifeeh SHEEA T Tt TS 1 A feafaw |

30.2  IAH IR TR ST TS hiF T3 ?

30.3 S T UM 3IcUTEh TSA HH AT 7 ?

30.4 HRIY-STFETEE WH fhd TSI H e g 72

30.5 W ST I Iooi@ hHITT ST S et @H ferd |

30.6  TCE HYHI-UTH WA < fhd qe i@ g ?

30.7 U ¥ feyq SFaugi argu @1 am fakau |
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Note : The following questions are for Visually impaired candidates

only in lieu of Question No. 29.

Attempt any five of the following :

29.1
29.2
29.3
294

29.5
29.6
29.7

Name the international airport of Yemen.

Which canal links Red sea with Mediterranean Sea ?

Name the major sea port of Canada along its west coast.

Mention either of the terminal stations on the Trans-Australian
Railway.

Mention the major nomadic herding region of South Africa.

Name any one major area of extensive commercial grain farming.

Name any one International airport of Great Britain.

30. On the given political outline map of India, locate and label any five of

the following :

30.1
30.2
30.3
30.4
30.5
30.6
30.7

Note :

A state with highest level of population density.
A state with highest level of urbanisation.

A state leading in the production of jute.
Koraput-bauxite mines.

Jharia coal mines.

Mangaluru seaport.

An international airport in Punjab.

The following questions are for the Visually impaired

candidates only in lieu of the Question No. 30.

Attempt any five of the following :

30.1
30.2
30.3
30.4
30.5
30.6
30.7

64/5/2

Name the state with highest level of population density.
Which is the state of the highest level of urbanisation ?
Which state is leading in the production of jute ?

In which state Koraput-bauxite mines are located ?
Mention the state where Jharia coal mines are located.
Along which coast of India, Mangaluru seaport is located ?

Name international airport located in Punjab.
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